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325, The qrisiting space shustle moves arousd Earth well shove 99 perount of the atmo-
sphere, yet it till accomulaies an electric charge on its skia due, in part, %o the loss of
clectrona cansed by the photoelectric effect with sunlight. Suppose the skin of the shunle
ia costed with Ni, which has & relatively large work Ranction ¢ = 4.87 £V at the tempera-
tures encountered in orbir, (2} What is the manimem wavelength it the scler spectrum
that ¢t resalt in the armission of photoelectrons from the shattle's skin? (b) What is the
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The average energy of an oscillator ie then given by the discreie-sum equiv
Equation 3-27,
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It Catoulating the sums in Equations 3-30 and 3-31 (see Problem 258)yi
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Multiplying this result by the number of oscillators per unit volume in the intes
given by Equation 3-23, we obtain for the energy density distribution functior (3'2;} W)z P
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